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West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2010

PART - 11 '( Honours )
PHILOSOPHY |
Paper - III

Duration : 4 Hours } | . [ Full Marks : 100

Candidates are required to give thetr answers (n their own words as far as practicable.
" The figures in the margin indicate full marks.

Ansiver Question No. 1 and any five from the rest.
S R AT TG TSI G2 S (T (I #A15f8 2ionm Bwa it |
1. Answer any flve of the following : 5x5=25
@ @ Ao oA Tea s |
@) What is the nature of substance according to Locke ?

AT WS G T 3 2
) What is Solipsism ?

TR B 0

(c) What 1s_ meant by Interactionism ?
ra-efeferamm 3 3@ ¢

(e} What is synthetic apriori judgment ? Exemplify.
HT: % AT B I A ? SHRPIR fore

{e) What does Hume mean by "Impression' and 'Idea’ ? -
qEe @ ‘e’ qes e F i ¢

{f) What are the different kinds of monads admitted by Leibnitz ?
R eskmme & R epiaren Fom a0 2 |
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® Discuss some of Locke's importént arguments against innate ldeas..
RS SR R e e -0 3 e |
h) Whaf does Kant mean by 'Categories of Unders;anamg' ?
1% Ffag s fo:Fra wiew’ T@cs [ e ¢
{i) Who among the philosophers admit intellectual lqve of God and how ?
I TP SNCaR oS (% S el Tem Few 93k Frena ¢
] Whét does Des?:artes_ mean By the criterion of truth ?
| IS STSTOR TR TS FRcCE ¢
Answer any five questions from Q. No. 2 to Q. No. 10 .: - | 5x15=75
o e q calwmmm-wmmm 3 (i #if5f 2osm $ar i ¢
2. Discuss the views of Descartf;s. Spiﬁoza and Leibnitz on the nature of substance. 15
S, Pt @ T SO A S T |

3. What does Leibnitz mean by the principle of Pre-established Harmony ? What is the
importance of this principle in his metaphysics ? 12 + 3

wigfe [T TmeTRm T e $1 @nE ¢ oy wfifimm o Tike ozwg & ¢

4, How did Descartes obtain the first principle in his philosophy ? Discuss. Is this
| principle based on inference ? ; 15

1S 3 Boitra ola ieR JermEl «fet st s 3 | @2 7R & ogwe-aes ¢
| 5. Discuss Spinoza's view on the relation between God and the world. 15
SN e — |
6.. What precisely is the problem of Kant's philosophy ? How did be solvé this problem ?
:7%+7§

FH i Rovm gl & 2 375 fFena @ e AW A 2
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Critically explain Locke's theory of knowledge. 15
| F(ER WITSIEA FAEABASES 1t T
Explain and examine Hume's doctrine of causality. : c 15

W‘imﬁmfi@mmﬁﬂﬁmwnm |

What is the meaning of 'to be is to be perceived’ ( Esse est percipil ) ? Explain after
Berkeley. : , ' : 15

(PR T VTR P R R 291 (41 O 1 (0 W A0y R 1 I R ¢ AR R

maﬁwﬁﬂl

Give a comparative estimate of the theory of ideas as developed by Locke, Berkeley

and Hume, ' i5

W,szﬁ@mmmmmwwwmmwu

[ BU-P-I-10049) - WBSUB




'PHIA (HN) 04

West Bengal State University
B.A./B.Sc./B.Com. ( Honouxs, Major, General ) Examinations, 2010

PART — I ( Honours )
PHILOSOPHY
Paper — IV

Duration : 4 Hours - : _ " Full Marks : 100
Candidates are required to give their answers in their oi_im words as ﬁxr as practicable.

The figures in the margin indicate full marks. .

Students will have to answer any six questions taking two each from Groups A, B and
C a.nd five short type questions taking from Group - D.

Ron=, 4 @3t o (3 4 33 o B o ol eoir Ber firs 2@ |ﬁ@m—w cﬂt@m@ﬁﬂfﬁfﬂ

g oo S fire @i
GROUP - A
et -w
1. @ Symboltze the following sentences into standard torm categorical propositions '
and state their qualities and quantities : 4
ﬁﬁféﬁ%wmﬁwwqﬁmwwqﬂﬂmmﬁwmm@ﬁ@mqﬁ@_
¥ 2 '

{ Things made of glass are fragile.
1053 oAl et o | o
(i) There are honest politicians.
| A mﬁﬁﬁw_mu
: (ijji Péople seldom know themselves. -
Twifde, TE FITe® 6 |
v . Ohly some students are present in the class.
TSI 3 T T SIS ST |
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b

(0)

(d)

(e

(b)

©

What is meant by distribution of terms in a proposition ? 2

WWWWW%@W ?

What is class inclusion ? | : 2

csfe g tEaad ?ﬂw A

Classify standard form categorical propositions on the bgsis-of class mclﬁs'lori.'
o | P

(e erogReaein FoRiTe S SRR Ut TR SRS SIS 39 |

‘Write -the-diﬂ‘__erencc between cpmplementéry .ter"m and contr‘r;.lry term. | 3 .

vfﬁvﬁ'ﬁs‘ﬂw‘eﬁﬁw o Ty A B |

Are two proposltions contrary to one another if one of them is true and the
other is false ? Give reasons for your answer. 3

it IR aﬁwewﬂaﬁﬁﬁﬂiﬁiﬁwlﬁmm ¢ I Bed e |

If ‘Sorne S are not P' is a false proposition, what can bc inferred about the

truth value of the following proposlttons ? - 4x2=8

IR P F & — mﬁﬁwmmwﬁamﬁcﬁ:w
(i) All P are non-S
 RAAET

(i) Some non-S are non-P

CFIC (I - F -
(i) = No non-Pis non-S |

(BIAl -4 7 G
(ivy  Not all Pare non-S.

AT |

Can there be a valid disjunctive syllogism in which the second premise affirms
one of the disjuncts and the conclusion denies the other ? - 4

G (IR 034 astEe If% 1S sea Ww&%%&ﬁﬁmﬁmﬁ@m&ﬁm :
wein Rewlbee et w31 2 ¢ |
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3. (@ - What is meant by ‘'existential import’ of a standard form categorical
propoSition ? Discuss the differences of opinion between early and later
logicians on this issue. : o 8

S SRFITE SALT I50T SRS Sl TS F @RI 2 9 eH ABW 6 71
RN Tostiee ST = |

(b} Discuss why'later logicians do.n'ot admit AAI as a valid mood of syllogism. 4
 AAI TR @ 7 PR tay 20 TR W 7, Si S T |

‘(c) Give Boolean interpretation of the following sentences and represent them in

‘Venn Diagram : : ' . 3
ﬁﬁﬁﬁ@%@%ﬁﬁaﬁﬁwwwa mﬁs:mhga
() Some students are clever and intelligent
e N
@  Children are not fools.
- o3t @t |

4. Transform the following arguments into. standard form of categorical syllogism and
_ mention their figure and mood and then prove their validity by Venn Diagram :

[1+1+3)x3=1b

ﬁﬂﬁﬁwq%@%wWWwwmww |©mﬂweq%@mwwmﬁm
’imqﬁwﬁahwﬁmw

(a] Some children are not considerate, because all children are self—centered and
no self-centered person is considerate.

o (PR P RTaes 7, PR FoTes s, ik @ SR s [{Eee 11

b  All worldly thingé_are transitory, because no worldly thing is non-material, and
no material object is non-transitory. '

R YT T SIS, $1Ed (T ANRE TR Gwe aa, AGR @ we Aned
S-AARRETIE 7 )

(c) | Only teachers are present in the workshop, some scholars are present in the
workshop. So, some scholars are teacher.

e PrvEeais it Soifys fest, g stmes Wﬁzx@ﬂﬁz@% | e g o
T
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5. ()
(b)
o
6. (@
)

ﬁmq@aﬁammmqm'w(mmﬁwmé

GROUP - B
o
Determine whether the following propositions are tautology, self-contradictory ,
or contingent by means of truth table : 4 +4=8"

1oy A I e e oSS, T TR T e, o Aoy

® (p>(g>-Pllog |

@ pVIilg-~r)>~pl . |

What is the difference between material and logical equivalence ? | 4
T ' (IS Ffor wog wA1d fF ¢ | '

Can we get a tautological proposition by.denying a tautolqgical proposition ? 3
T Foustes T Py #T B oeTe AR AT AW ¢ |

- Construct formal proof of validity for the following arguments ( any three} :

I3x4=12

@ JV {~JK)
JoL/ s (LJ) =Jd

(i} - Bananas and grapes are fruits. Fruits and végetablés are nutritious. So
bananas are nutritious. '

o] A G T T | T 9 S 2 A | STOGA F| AGA |

) (x) (Fx> ~Gx)

{3x) (Hx.Gx)} / ~ {3 x) (Hx- ~ Fx)

{ivy  Plato was a Philosopher. Therefore everything is either perfect or not

perfect.,

Cotht em wfRe | oA ﬁ%ﬁ%@ﬁ{vwwﬁ{@aﬂ 1

"I‘ranslate any two of the following sentences using quantifiers, vanables etc.

_ . : 1141} 3.

m'mmmm-a@wﬁmﬁsmwmm@wwe

0 A girt will win if and only, if she is lucky. | -
| T G ) i e o T o7 SR 2 |
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| @  There is no good person who is not bra’ised. |
(i) .Every valuable thing is not both e?xpensive.aﬁd dcslra-ble,l '
SO R T S TG S I A | |

‘7. .(aj ' Determine the invalidity of the following a.rgument by the method of truth value
- assignment ‘ _ - 3x4=12

ﬂmmﬂawwtawwqm o
@@ (A>B)-(C>D)
| AVC
(BVD) 5(E.F)
E >(F>G)
Go(ADH)/~ H
@  (x)(Hx >~ )
(3 %) (dx. ~ b} /5 () (Hx 2 %)

- (i) Horses and cows are mammals. Some a.tﬁmals are mammals ’Iherefore
all horses are mammais.

o R (P! ST | T i 2 7 S | R R C'mﬁ'ﬂwvflﬁ-l |
-(b) - What is truth-functional compound statement ? Wﬁte an example. 3
Hepirers - (NP AT IS I 2 aasf%@ﬁrémﬁﬂl

8. (a) Determine, following the method. of resolution whether 'p V q¢' implies
"I{-p=q)> (p>q)lVig> r). 4

AYFA AHST MG 'p V ¢ [/AWG ' { { ~ pzq]:(pnq}lV(q:J r) w/AGES
ﬁ%ﬂﬂmﬁﬂﬁﬁw1

) Determine the validity by the method of resolution | | 3
polq.7r) /» (p2q).(por)
AR AT B A ey v 3

‘polg.r) /. (p:q);(p:r)
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10,

11.

12

-{c). [Sx)--Mx=~(-x]".~Mx_—Isthlsstatementtrue? 2
(3x) = Mx =~ (x) ~ Mx— R I B o105 ¢

_ (dj State and explain with example the rules of method of resolutlon B -}

| Wﬂ‘imﬁﬁw«ﬁm@ﬁﬁqﬂmaa}mwn

GROUP-C

- Retet -9t B | _
Explain the differences between scientific explanation and unscientific explanation.
Discuss, with examples, the criteria of scientific explanation. . 6+9=18

hwﬁwmawhmﬁawmmmwm nh@ﬁawmaﬁmw
T |

Explain with examples, the seven stages of the scientlﬁc method. - . o 15
T #Hafea e  {IRS TN Tt T | | '
Discuss critically Mill's method of diﬁerence as a method of proof and a method of |

discovery. 15 __
Wﬁmwﬁmwmcﬁ Wﬂﬁwmﬂﬁ@aﬁmww :
Calculate the probability of the following cases : T ~ 3x5=15"
irva craofim srsivel Fief w3 N

(@) What is the probability of getting either the kjng or the ace of diamond in
- drawing a card from a deck of playing cards ?

aﬁ@maﬂ%m@aﬁmwﬁmwﬁaﬁwmmmwm |
FSP :

(b} There are 6 yellaw balls, 12 blue balls and 18 red balls in a box What is the -

probability of getting three balls of the same colour in drawing three balls from'
the box (i) if each ball is returned before drawing the next ball (ii) if no ball is '
‘returned before the next draw ? : '

"l aira ot (@l ) T T, Nﬁ(aﬁﬁ)ﬁ‘maﬁm\wﬁ(mﬂ)ﬁmww |

A corR ol 781 geret RoafbaR e Qe SIS ¥ (1) 1R arerel coie 3 o
T (ORI SLs A mmiﬂ(n)wmmaﬁ AT A COTFAI el (AR A (e

R

- [t;'} What is the probability of geiting Head each time if a coin is tossed thrice ? -

mWW@W.WW‘@’WMWW- ?
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13. (a)
(b}
()
(d)
(©

0

{

G
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' GROUP - D
_ fReisl -3
What is quantifier ? What are its types ?
P FICF A 2 AP TO AT LA 2 |
What is dilefmna ? Give an egélmplé.
fasi-yta Sies = 7 9B Siezel e |

When does an argument formn become 1nvahd ?

o 7 YR e SR T 2

Why is the predicate term of the A proposition not distributed ?

Awﬁmﬂﬂwmaﬁﬂim ?

If p. g = T then determine the truth value of the statement { p> g) V ~ p.

M p.q=TTSA(p>q)V ~pIWFRMI T Rz 7
What is null class ?
oS (= B 30 ¢

What are two _Qlaifns made by Mill about his method ?

Mill o4 ~@(ouf! Tk 76 7R v 1 MR 9 f R o
What is contingent statement ? |

Ao AR IF A 2

What is propositional functibn ? Give an example.
oA PIF A 2 Swrzae 9 |

What are the ‘laws of three thoughts’ ?

foata o7 Roilt” s 2 ¢
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